140

120

100

BO

60

40

20

300

250

200

150

100

50

Y
—
=

[

Run 4320 mpswise, accO: All

Enilries: T9I7H

Mean: 0ERET +- 00023

Sid Dev: 1.9120 - 0.0018

B 10

AcciNAccD

Run 4320 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Entries: 60&4

Mean: TE53D 4/~ 0.00d4

Shd Dy 0LIEST - 00031

Eniries: 6084

Mean: TEEEE +/- 0.0044

Sid Deery: 0.3E8T - 00031
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Run 4320 mpswise, acc(: Beam OFF

Enilries: 652587

Mean: 000453 4/~ 0.0002

Sid Dev: 01842 - 0.0002

1.5
AccliNAccD

Run 4320 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Eniries: 208081

Mean: 68176 +- L0024

Sbd Dew: 0.3430 &~ 000717

Eniries: 206589

Mean: B 8575 +/- (L0024

Sid Drev: 03460 - 0.0007
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AccO/NAccO

AccO/NAccO

Run 4320 mpswise, Acc0/NAccO:mpsCoda, beam ON, lager OFF

1
100 200 300 400 500 600 700
mpsCoda

Run 4320 mpswise, AccO/NAcc0:mpsCoda, beam ON, laser ON
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mpsCoda
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*10

AccO/MNAccD

AccO/NAceD

Run 4320 mpswise, AccO/NAccO:mpsCoda, beam OFF

11 I I Lo l T I i L Tt !
100 200 300 400 500 600 700
mpsCoda

Run 4320 mpswise, Acc0/NAccO:mpsCoda, beam ON, laser OFF
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